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which have the same volume.
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 of two cuboids are given in the table below.
in the volume of the two cuboids?
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8 cubes = 8 cm? (1 mark)

3X2x3=18cm’ (1 mark)
4x4x2=32cm

3Ix3Ix2=18cm
4x2x2=16cm' [T
8x2x1=16cm'

So both LI ang
shouldhecmled (1 mark)

V=Ixwxh
=4x5x5
=20x5=100m* (1 mark)

V=Ixwxh
=9x8x3
=72 x3 =216 cm’ (1 mark)
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V=Ixwxh
Volume A =2 x 3 x 6 = 36 cm’
Volume B =2 x2 x 8= 32 cm’
Volume C =
Volume D =3 x 3 x 3 =27 cm’
Volume E=9 x 2 x 2 = 36 cm’
A, Cand E should be circled.
(2 marks for all correct.
Otherwise 1 mark for two
correctly circled.)

V=lxwxh
VolumeA =7 x 4 x 2 = 56 cm’
Volume B =6 x 2 x 9 = 108 cm’
Difference = 108 - 56 = 52 cm*
(2 marks for the correct answer.
Otherwise 1 mark for working
out one volume correctly.)

V=lxwxh
50 height = 120 + (4 x 3)
=120+ 12 = 10 cm (1 mark)





